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(Note 15)




International Women’s Day

#BreaktheBias —spotlights the individual and collective biases against women that fuel gender inequality.

Rosa Louise McCauley Parks (February 4, 1913 — October 24, 2005)



2D resistive Touchscreen circuit model
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2D Touch Screen L.
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Top Plate Model Umidy = btowee . \lg

Physical structure > Circuit model L

resd + l/*-‘vouo\\
o — [
A This %Nos vs
the verhical
Riouch posttion in ‘he

Screen.
(Cu or Au) Note 14

Rrest

What s the next %’\‘op ih'\'\‘\o



Bottom Plate Model

Physical structure
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Connecting voltage source to top sheet gives y-touch position
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Connecting voltage source to bottom sheet gives x-fouch position
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Equivalence
Two circuits are equivalent if they have the same I-V relationship.
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Equivalence
Two circuits are equivalent if they have the same I-V relationship.
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Equivalence
Two circuits are equivalent if they have the same I-V relationship.
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Equivalence - Example

\Je\ = \JS + \j'R
Vel = Vg 4 SR
6\ A \fc\ = \fs

-XC\ —R = \le,\ - \JS

Sei - Ner - \g
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Two CII’CUItS are equivalent if they have the same |-V relationship.



Thevenin and Norton Equivalent
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Thevenin and Norton Equivalent
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Circuit Analysis Method — What happens when we have multiple
Voltage or Current sources?

\)0\*\'&6{; S\C)mw\e,r U, - O= \]M
: U, = Vot
R> '\3.\.&P ) Compolre, O vesponec 4 \k, (/Sc'\ \JS;—*‘O)
’ R, R,
+ T + \}o\)—‘r: _—R\— . \}g\
Vi <_) Vour Va (_) = ) ‘R\—\—P\'y
l \“ \Jov—\\
1 (;L'Y\da S*Q\at QQW‘PU_\C QL\{‘CSPOV\,SG —tg\)gi
O
\J — i R\ \JSL
N _R\’\Ez




vgs O 4N\ 8’4'
Superposition |
For each independent source k (either voltage source or
current source)
» Set all other independent sources to 0
* Voltage source: replace with a wire
» Current source: replace with an open circuit
+ Compute the circuit voltages and currents due to this source
k
» Compute Vout by summing the voutks for all k.

Vg

'1‘}
F

IT'S A CIRCUIT, WITHIN A CIRCUIT, WITHIN
A CIRCUIT... SIII'EI!I'I]STI’H]H ’

il

e |

B

WHY NOT JUST USE P!S.ﬁél?
¥




Practice — Example 1
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Practice — Example 2 R,
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Definition
Simple rule :

Series elements will have the exact same current through them due to KCL.
Parallel elements will have the exact same voltage across them due to KVL.

Series Universes

Parallel Universes




